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I.Answer all TEN questions





    2 x10 = 20

1.
Explain the consequences of normalized floating point representation of numbers.

2.
Multiply 0.9811E-13 * 0.4241E2.

3.
Write down the procedure for secant method

4.
Briefly explain Newton Raphson method

5.
Solve the following equation using Cramer's rule


x1 + 2x2 - x3 = 2 


3x1 + 6x2 + x3 =1


3x1 + 3x2 + 2x3 = 3

6.
Define interpolation.

7.
Write down Lagrange’s interpolation formula for unequal intervals

8.         Mention the procedure followed by Step Deviation Method.
9.
Evaluate       [image: image2.png]o f(x)dx



  using Simpson’s (3/8) th rule. The following table gives the value of a function y=f(x) for different values of x

	X
	0
	1
	2
	3
	4
	5
	6

	Y
	0.146
	0.161
	0.176
	0.190
	0.204
	0.217
	0.230



10.
Using Euler's method, find an approximate solution of the problem y1 =x-y, y(0)=1 at 
the point 0.4 taking the step length h=0.2.

II.Answer any FIVE questions





      6 x5 = 30          

   11. Fit a Quadrature Curve by Least Square Method for the following data.

	X
	0
	0.5
	1.0
	1.5
	2.0
	2.5

	Y
	1
	1.5
	3.0
	4.5
	6.0
	7.5


12.        Find out the real root of the equation x 3 – 9x +1=0 at (2, 4) by using regula falsi    method

13.        Solve the equations using Gauss’s elimination method

         
x   +  y  +  z  =  6

         
3x +3y + 4z  = 20   


2x + y + 3z = 13 

14.         Find  (dy/dx) and (d2y/dx2) at  x=2.2

	x

	1.0
	1.2
	1.4 
	1.6
	1.8
	2.0
	2.2

	Y
	2.72
	3.32
	4.06
	4.96
	6.05
	7.39
	9.02


15.       Using Newton’s divided difference formula find out the values of   f(2), f(8)  and f(15) 

Using the following table of values

	x

	4
	5
	7
	10
	11
	13

	F(x)
	48
	100
	294
	900
	1210
	2028


16.    By using Simpson’s (1/3) rd rule evaluate       [image: image4.png]Jo dx/(1 +x



2) dividing the interval [0, 1] 

Into 6 equal parts.

17.       Use Euler's modified method to compute y for x=0.05 and x=0.1. Given that       

            (dy /dx) =x +y with the initial condition x0 =0, y0 =1. Correct to 4 decimal places

III.Answer any TWO questions





    10 x2 = 20

18. 
Use Gauss Seidel iteration method to solve the following equation

         10x  -  5y  - 2 z  =  3

         4x  -  10y  +3z  =-3

          x  +  6y  +  10z  =  -3

19.      Derive Trapezoidal and Simpson (1/3) rd Rule.
20.      Using Lagrange’s interpolation formula find out the following

           a)    Find f( 27) from the following table

	x

	14
	17
	31
	35

	F(x)
	68.7
	64.0
	44.0
	39.1


             b)    Find f (6) from the following table

	X
	2
	5
	7
	10
	12

	F(x)
	18
	180
	448
	1210
	2028
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